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QuesT Practice #2B

Questions for this QuesT will be formatted into three columns:Questions in column 2 are a tier up from column 1.
Answering these correctly will result in an 80% for this question.
Questions in column 3 show mastery of the topic.
Answering these correctly will result in a 100% for this question.
Questions in column 1 are the basic, essential skills.

You must answer these to pass.

Answering these questions correctly will result in a 60% for this question.











Please ask if you have any questions!

1c) 2x2(2y5)(3x6)(y)(x3)(z2) =







2c)  =






3c)  =



4c) ()3(2 =





5c) -()3(3 =




6c) 3x3 – 2x2 + 4 + 11a2 – a + x2 – 2x3 + a – 3








7c) (




8c) –x3(-3x2 + 2x – 5) =





9c)  - 3(-2x2 + 3) =





10c)  =


































 Find the volume
11c)  


















  
Find the height
12c)  







 
13c) A flagpole broke in a storm. It was originally 120 feet tall. 42 feet are still sticking straight out of the ground, where it snapped, but the remaining piece has hinged over and touches the ground some distance away. How far away is the end of the pole from the base of the pole (along the ground)?




Create a line graph using the following information:
14c)   
0 sec
0 km/hr
5 sec
20 km/hr
10 sec
40 km/hr
15 sec
80km/hr
20 sec
120 km/hr












Graph the following equation
15c) y = x + 1
x
y














1b) 3x5(4x10) =






2b)  =






3b) (5x2)3 =




4b) (2 =





5b) (-2x4)3(x3) =





6b) 3x2 + 2x + 3 – 7x + x2 – 4 =








7b) 3x4(x3 - 2) =





8b) 3x(4x2 – x + 2) =





9b)  =





10b)  =





















Find the total surface area:
11b) 






















Find the volume
12b) 






















Find the missing side
13b)  






 

14b) A zipline starts on a platform that is 48 feet above the ground. The zip line is 117 feet long. How far is the anchor dies from the base of the platform?









Create a pie graph with the following information:
15b) 14 red, 20 green, 9 yellow


















Graph the following equation
16b) y = -2x + 1
x
y
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Simplify
1a) x3 * x4 =





2a)  =





3a)  =




4a)  *  =





5a) -34 =

(-4)2 =



Simplify
6a) 5x + 3 + 6x + 2 =








7a) 4(x + 2) =





8a) 3x(9x2 + 2x + 4) =





9a)  =





10a)  =




















Find the volume
11a) 


















Find the missing side
12a)  








13a) Two cars leave the same parking lot. One drives 3km North.  The other drives 4km East. How far are they apart (straight line distance? 











Graph the following information in a bar graph
14a) 3 yellow, 5 blue, 7 red


















Graph the following equation:
15a) y = 2x + 2
x
y
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